FHI30FEEEHMRSH—=/\/L

6E4E 8 E

EEK-ARES-W | 79L& | [LEA LB EEA itEB
- ANEG- @ ® ®
TIVER @ @
[EREA )
ILREB ®
TEEA
itEB
54 65 S

EEH-ANES-8 | 79 )LIEE | LR TEE
EEAARES 1 @ © ® KN
FOILEE ® @ 3RS
NS ®@ e
4FEHE 65L&

ERH-ANES -0 | 7 LR | IR TEE
W AR 1 ® ® ©O) KEN=
FToILEm @ @ e
L ® A
tE IRE

IRE
FE
IRE
2HE
IRE

2HE

3E4E 6t a

EEH-ANRS-W (T JLRE  |ILE tE
EEA AR R ® @ 3
TIVER @ ®
IR ®
fEE
254 3HE

EEK- ARS8 | [LE tE
EEH AR ES 0 D ® 2B
L ® &
1EE A
164 A

ERM- ARS8 (1B tE
BEA - ARES -0 ©) ® 2B
L @ 28 A
eE 2BE

e
KERN=)
e
KERN=)



SHMSIE—H—=/\)L 3-

T5F A
9:10
9:30
B\ S E 1-3-15 1-3-15
D 10:00 150 LB x €8
10:17 (' SA] e )
® 10:20 2560 =R 3t Ak
10:37 (fEE)
3 10:40 R
10:57 _SmMEHRE
@ 11:00 24Q =R %t fEE
11:17 (IGRE)
® 11:20 15Q =R xt EE
11:37 (%)
® 11:40 MR
11:57 SmEYR
12:00
12:30
@ 12:30 2%Q TEE »xt Lk
12:47 (= smTIE)
12:50 1EQ =il xt Lk
13:07 (fEE)
©® 13:10 R
13:27 SnE 'R
13:30
13:47
13:50
@ 14:07
14:10
" 14:27




—JL

1L AT

T5F C
RERES—T107
B & x
1-3-1% s & B i 10-3-10%
3FED =l 3t LR 10:00 560
(7™)VEE) @ SR X FYILEE
4% Ol xt EE 10:23 (EED)
__ URE®) 10:30 554Q
3FQ EE xt 7UIEE @ tE *x Lk
_ (Eimu) 10:53 (= aue)
45Q TIERE * LB 11:00
(fEE) ®
3HQ TEE X =i 11:23 :
/N ) 11:30 550
4%Q Al W Lk @ = [T o BTN
(79)Li&E) 11:53 (79 )Li&F)
3E@ FTOIERE xt LB 12:30 E:30)
(FEED) ® EE xt 7YILEE
4FE@® FToILEE xt EE 12:53 (LEE)
_ (2 mue) 13:00
3%G =all xt 7UILERE ®
(IERE) 13:23
4G ZAB xt FoILERE 13:30 F:36)
(TEE) @ =0 [T s i
3E® tE * L& 13:53 (ZoIL3EHE)
_ (Fmum) 14:00 5%®
4% EE xt Lk G x 7ILiEE
(=) 14:23 (= 3aTIR)




H25. 5. 2{&1F

D

10-3-10%

6FED
[GEA %t TEEB
(7Zr2J)Li&Fa)

6EQ
SRR % FILERE
(TEE)

6E®)
=R FEEA
([EFE)

6E@
[GEEB x 7ILERE
(= mTE)

640
ST xt [RBEA
(fEED)

6E®
EEA *xt LB
(= aTug)

6E®D
BB x 7WILi&mE
(EEE)

6E®
TEEA xt LEA
(7Z2IL&F)




TRSA—=/\JL I hR)—IKR

@R 14 2% 3 45 55 65

SR I =Y . 1 ! ! ! : :

EEM-ARES-H B 6 9 12 15 18 12

FIViEE B 10 7 9 12

F—LE| 2 1 1 1 ‘ ‘ 2
=i

. F— 1 1 1 1 1 2

(e K 5 9 9 11 11 18

a5 | Z—LE| 3 3 g 4 : :

Sa AL 0 11 18 31 33 38 42




72

38

63

173



N N < S—= |
MEGTHDYIIURE
IE £ 25m
JUL 1 L
A0m
| 70
|
|
(B:3-44F 60
i A
|
(A:$R1-254%) 50 I
I
I
60n I 50m
40m|
I
50m 3 I 0
| |
| |
! 25 |
|
|
|
|
1 v
C= o : C=%H S 9
6 30 m
21 25m R 36 m go m Q

13!



%0
|
— \—I—
A
A
1
Ei
©
7 | [a)
Il | N
[Le
= | el e el e e = -
2
|
—_ \—I—
A
A
4
El
i
s C Lo
~N - ™

3m



70

65 4

35

60m

70m




